*  the solution of the linear equation: =3r—-2=4- 5(_1_-,_4} is

_' \,@13 b) -11 a8

12| @uad {ic e Llafl'mn_ (XE}JWL,J\ =, ) 2 o\o
A+ Bxz+C =0

ey o X tf,da gﬂfﬂﬁbn

| A <D Na '54:(((,191.'0“

olNe 55(&;&'-:::11

IU\
x%_ 6% +9-16=0 &t &
21—6?’-’—? =& [moﬂd. @@]\\‘—é-?

» the solution of the quadratic equation : 4x° —9x—20=2x" —15x =12 is

a x=—4 blx=—land:=—4 d) x=-2 and x=-]

4 X*-zx*-qx +1bx -20 +12 =0

22"+ 6% - 8 =0 W@

F]

N TRRAAE AR
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MULTIPLE CHOICE QUESTIONS. Choose the one allernative that best answers the question.

*  Any equation written in the form Ax+ By+c¢=0iscalleda

) Quadratic equation ¢) Quadratic Function  d) Linear Function

| ———
——ee

* _Any equation wrilten in the form Ax’ + By+c =0 iscalled 2 . -
al Quadratic equation b) Linear equation ¢) Quadratic Function  d) Linear RACiES

*  When a quadratic equation has the discriminate delta equals to zero (a=0)
a) No real root for the equation lﬁThE quadratic '“]“"HI““
<) The quadratic equation has two distinct real root ) The quadratic equation

has only one real rool.
has three distinct real root.

i *  When a quadratic equation has the discriminate delta is positive value (A 0) Lok
a) No real root for the equation b) The quadratic cqﬂiﬁ?“ has only o:? E,c::ﬂl] root.
e quadratic equation has two distinct real root  d) The quadratic equation has three dis

*  When a quadratic equation has the discriminate delta is negative value (A <0)

\ ,@h i ion has only one real root.
o real root for the equation b) The guadratic equation .
; d) The quadratic equation has three distinct real root.

¢} The quadratic equation has two distinct real root

the solution of the linear equation: 3x+ | =6x -4
5
a) =2 =
Mf—!— 3

| * = 2

WA
, A company market is characterized by a dema Euucﬁm@ and a suppl ionlp =
; um

where q is the quantity produced and p is market price. Find the quantity and price equilibri
1- the Equilibrium quantity is

a) g =10 b) g =20 L@7=30 d) g =40

et |
2- the Equilibrium price is
a) p=400 b) p=600

A ERRARE AR

Scanned with CamScanner




Homework Unit One

MULTIPLE CHOICE QUESTIONS. Choose the one alternative that best answers the question.

]]Sulvf the equation: Fx - (5x - 1) =2 '=:d ﬁ'j |
Ak 1 :

2)5alve the equation: -5(2x +1)-2 = -2(x + 5) + 5x

6 el ofd) oy

3)Solve the equation; x2+14x -5 q:;;}::}
VI wee o2 oo-e
| X#l4yz-5=%
2P X% Yy —Ex4+HK-5+6 =2 4

*rEx~ -6

cubs

P=35-clx

d)Assume that the price per unit d of a certain item to the consumer is given by the equatio where x
is the number of units in demand. The price per unit from the supplier is given by the equatin where
% is the number of units supplied. Find the equilibrium price and the equilibrium quantity.,

A) equilibrium price: $50 per unit; equilibrium quantity: 30 units
B) equilibrium price: $35 per unit; equilibrium quantity: 50 units
C) equilibrium price: $20 per unit; equilibrium quantity: 50 units
V@?quilibrium_pﬁ_ﬂ:: $30 per unit; equilibrium quantity: 50 units =

PHE Fad
EE_Jfax :—_,?.21' +2"G _-_-LJ_.I

t?ffr-‘?—'_r:c...d \j=35"ﬂ'|(5’d):3ﬂ

EEFRARAL RN
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A ; )
1ULTIPLE LHDICE QUESTIONS Choose the one alternative that best answers the question,

*  The limit f-*-‘h.:D:o.M- ,LA1¢NJJ| 53R 9N @3-“)

of a function fatx — a d
t exist if :
2 f(a) # T oes not exist i

f(-a) & lim/@#lim/@ ol lmf{x}#ﬂ 9 [im/(x) # f(a)

. Thehm:lot'a Eunctmnjatx_.aum“f n:lmh

al f(a) = f(~a) \@'llmf(x} llmf{x) o limSf(x)=a d [im/f (=)= f(a)

& The [lmii of a function fatx—a Elflillhnu ous if + =t A

af@=f(-a) b hmf{;r:l lim./f(x) c) [imf{x] i

Let f(xlz{xz-l e 5;1 (-0-4 ={g]
4l if Fo-l @)+l =2
1-Calculate f(-1)and f(0)
a) f(-1)=0and f(0)=- b) f(=1)==1 and f(0)=0
o f(-1)=-1and f(0)=1 £ @"'f{ 1)=2 and f(0)=1
(- 0

X+ = ()%=
;(0)-: .K-H = (0} 4-’!:".1.

cC s\l

C—P)
2- Calculate ]lmf(.r) and hmf(x]

¥ lim/ ()= 2 and lim/(x)=2 - b) |im/(x) =0 and |im f(x)=0
b=l =1 Xepm]®
V@’llmf(ﬂ 0 and llrpf{x) 2 ; 4 [imS(x) =2 and |jm f(x)=0

==l x==]"

3- lit_lllf (x)

) lim/(x)=0 b Jim/f(x) =2
==l L
o) !—1}_111 f(x)=0 and l.clj—lllf (x)=2 W g llm S pNE

4- The function f is
a) Continuousatx=-1 Discontinuous at x = -1
| c] Not defined at x=-1

- — T :_—_dlﬁﬂm_e Df_these answers at x =-1

I:he funchuns f is said to be cunhmmus atx=aif

a) f(a)=f(-a) b lim.f(x) = f(a)

¢} fisincreasing d lim/f(x)=a

E—a

Foran].rcunstant function f(x} k the |{m.f(x) is equal =\ > B =Ta U1 a) Ll o
a) S alls 0o
—q0

d) +m
L AT A
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| 2-x J x<0 Y
| : —x | U+X
I * -consider the following function [f(x)= 4+ x if O=<x<4 2% T
| 4 Er‘ x=4 [=]
1- Calculate: 2 =2-0= 12
e 2% =2-(-2) =Y gt [O= T-% = FTOT
= yaex = Y&z =€ f@= y4+x=4"+1=
2- Calculate i . Ll-\-x: q.y.'-'\:(g_[
im0 =2-x= 2-0° =& lim/®) = -
=0 2%
lim/@ = 4+X= 4+ = lim/®) = il
;- I;the function f continuous at x=4
No
8
8 ) JL—-_‘\'. 2 :\L{“ _-_:" xi+| l 2- %
Let f(;):{xz“ ‘-; "51 (1 *=+1 : -
2 iy ox- -
ks
b S\ 1-Calculate (1) = 2\
[ = a)—cwo \/‘”/4 - a2
2- Calculate limf[x}
=l
‘ a)—oo ‘/4111’4 ) +o d) 2
3 lim/®)
Kpm]®
‘ a)—o0 b) 4 o) +o \/Jz
4- From the result above the function f(x) ;.
a) Not mnljnuous atx=-1 Not continuous at x =1
c) Notcontinuous atx=3 d) Continuous at x =1
L PRTMIPIE @» i ol /1
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Homework Unit Two
MULTIPLE CHOICE QUESTIONS. .l.'.'lmnrve the one alternative that best answers the question.

5)The graph of a function f is given below. Use the graph to answer the question.

Find lim f(x) and lim f(x).
x— 0 x—=0*

Q:'m fexy =

*—0

Ql m ff"'") =

x —0"

1234567

A} 4; Does not exist B) Does not exist; does not exist

7) Given lim f(x)=-2and lim g(x}=5 find lim [t -] —
x—4 a—rd x—4

-4
i wmd of (A3

8) Evaluate the following limit |

PO - el
> A)2 B) e Ve}’m D) Does not exist

l 2) JL-“’ ol
! ,,-.-.-ofJ' 10) Evaluate the following limit. 1
)’ nmr 11 = -i—!—z‘ = —_— = 4+ 00
" x—e2+t X< o
:)JN VB)/ - Q) D) Does not exist
.{U‘b A)Z - - opes not exis
(2) A2 |

gon o2y Mo

(3wl () oo .
AR = pid ol 11

1

k-
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x) pieces of work perday - ‘
2 :ﬂk.ﬁnd Lim P(x).

14) A Companj;' training program determines that, on average, a new employee can do P(
x+5 5 '
N 6 +6065) _

after s days of an-the-job training, where P{x)=
|
| A)42 \,B(SKI C) 105 D) Does not exist 5'+5 |]

‘ ’

: 15) The cost of manufacturing a particular videotape is C(x) = 9000 + 9x, where x is the number of tapes produced.
The average cost per tape, denoted by Cix), is found by dividing C{x}by x. Find  lim Cix).
—— x—pﬂm

e - '
- 000 +9X
A)l4 B)6 \,tzﬁo D) Does not exist oy = C_}” j —

s - o —— , X
= Joee -F?(?cuaj:

Yoo

I

— 161The graph of y = f(x) is shown. Use the graph to answer the questior:
[ 1s f continuous at x =-17
|

|
: |
17) Determine the points at which the function is discontinuous. 5 B .
e xZ.4 forx<-l z ()\-ﬂ-ﬂ),_'&}'[ f.‘} 55\53
h(x)= {0 for -1sx=1l ’
wl+y forz>l

-1,0,1 D) None _
\/4’4, 1 B)1 o] . | |

gulsse | %

3 -\ 1 oy

R ERRA AL AR
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| * ﬁ(ﬂﬁ) = = = £(T 2 |

3o ) =3% |

»* ﬁ('X) = X l.;m-::—)ﬂ: ‘ ’
| ()

| o« L Pe=c
|
|

—

l\ @ Yind Pirst dervalive

L) = - 3 My 456~ F | !
- |

x’
‘ 3 _ 5B
Foxy =22 -+ 3

L FRRAALE N
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5\4_6@35&2:_;;5@ |
M}((\)Mt"}h’w—ndj J6y |

“, 1
g(%)'“”"ﬂ(qx) ZOZ.(M o '

Ex) Pind C:P"‘L [___"Cd point  F(x)= - 2°+62-5 .I
C(}?\(ﬁ]ﬂ ) D EUI : .

¢ |
gu)_:i:s#a i) v

@ crbicd / ~ |
' it |

P(5) =~ 6-5=4 (3 >4 Y !-

——— — s — — —
—e — —_— —— —— ‘

M— ‘ i
?(«x'):a cridical =o_P £ >o mﬂ |

Thn ?(ﬂdﬁ:n ﬁ\(fx) Zig ke dacmsmj '
ﬁC’I) = EAVE UL | , 0%
| ﬁ (@) >o Mrnmum
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|
|
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MULTIPLE CHOICE QUESTIONS. Choose the one alternative that best answers the question. ‘:.':s-h

LI

MYARY s
* The function f is increasing in the interval [a,b]if

i E |
TR LITIR @B | e ol _[

a) f'(x)=0and f*(x)<0 b) f(x) <0
O f(x)=0and f'(x)>0 LA (0)-0
+ Ifthe mof the function £ is positive ( f"(x,) > 0) then e {'
a) f(x)>=0 d-:‘-"’i b@fhe graph of f has the form of U
¢) the graph of f has the form of N d) f is increasing _
» The point I(x,, f(x,)) is a critical point if : =D P
a) f(x,) <0 b) f"(x,) <0
3 f7(x,) =0 L@ [(5)=0
= The point M (x,, f(x,)) is 2 maximum point if: o
2) f'(x,) =0 and f*(x)>0 b) (%) =0
) f*(xy) =0 and change signs \,ﬁf’(&) =0and f"(x)=<0.
* The first derivative of a function f is positive ( f'(x,) > 0), then the function is
V@’ increasing b) decreasing
c) concave up wards d) concave down wards
e The point M (x;, f(x,)) is a local maximum point if:
a) f'(%)=0 b) /(%) =0 and f"(x;)> 0 /)
L@ 7"(7)=0 and [(1)<0 B 1) =0
*  The point I(x,, f(x,)) s an inflection pointif: I
V@’ f"(x) = 0and change signs - b) f'(x,)=0
o f(x,)<0 d f(x,)=0
+  The first derivative of the function f(x) = (g(x))" ( Wicd WS chzsieo |
a) f'(x)=n(g(=)"" B f(x) = ng'(x)"™ |
o f'(x)=ng(x)g' N & f(x) = ng'(g(x)™ ‘
s the first derivative of f(x)=—4x’-Inx+2x—10 is JELt) |
V@’f’(x)=—12x1—§+2 b) f(x)=-12x" -x+2 ;|
c) f’(x}=—121=—l+2x a f'(x)=-7x* ;) ‘
X X
i

\ _ 2 4
Fex)=-122- 2 42
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« the second derivative of f(x)=—3x" —+2x? —=x=10 is
V@ [(x)= —36x° -4 b) f"(x) =-36x" +4
O f"(x)=-36x" +4x d f'(x) =-36x" —4x

P - _l22>-ux-1
Plox) =-36 X 4

‘e The first derivative of the function f(x) = (xi =3x+ l]} is
a) f{x)=(-’¢! "3~"'+1)1 b) J\"(J:)-—::i,(l."—3.1‘+1)2

9 fx)=@x-3)* -3x+ 1f ;'@" f(x)=3(2x~ 3)(x* -3x+ 1f

$e) = 3(K*=3x41) (2%-3)

vl WD

Let f(x)=-3x% +9x+3 g‘(ﬂ-’) - ,GIZZ-?-CT

1- The first derivative of the function f is , :
a) f'(x)==3x"+9x b f(x) =-9x* +9x+3
a fi(x)=-9x"+3

G (x) =957 +9
\
g (x) = -'\%x
b) f(x)=-18x+9
& f(x)=-18x-9

2- The second derivative of the function f is
a) f'(x)=—6x+9

\ G [ (x)=-18x
_qx%+9=0 (Mood &6)

\
3- The gritical points are _-E(’Z) o= x=liy ®==-1 1-Ajo |1 ]
a) M, =(1,-1) and M, =(2,3) BM, =(1.9)and M, =(-1,-3)
o M, =(1,-1)and M, =(0,3) d) M, =(0,3) and M, =(-1-3)

\\
4- The inflection points are :E (’x ] —E
a) M, =(-1,-3) b) M, =(1,-1)

A= S18X=o @M=

«2a1 YV
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sl @ -2es Py Plexy = -3x*-322 (Moed ®0) |
=o . .
1-the graph of the functi = fix o - |
FUandx‘_—f] ction y = f(x) has critical point (s) at \ famy o] el l o
Adx=1/2 b)x=-1

d)x=0andx=1

3- The ¢ritical points are
a) M, =(1,-1)and M, =(2,3) b) M, =(19)and M, =(-1-3)

O M, =(1,-D) and M, =(0.3) LM, =(03)and M =(-173)

\!
Pry-o  FO)=-EX2
1- the h i i -6 X~— 3 =0
graph of the function y = f(x) has an inflection point (s) at
a)x=0and x=-1 b)x=-1 .
x=1/2 ,/S:i}x-Oandx-l X= _‘-!z'-'

4- The inflection points are
M, =(<L-3) b) M, =(1-1)
o M, =(0,3) d) M, =(23)

I’.“?V"“
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- 'ework Unit %e (3)

@ L GGy

I‘I-?,E PLE C}IOICE QUESTIONS. Choose the one alternative that best answers the question.
13]‘ E (in thousands of dollars) from producing x units of an item is modeled h)le{x} =5x-0 auo:n;_.,

Find the margin marginal revenue a

A) $450 B) $10,300.00 \,e( $4.00 D) $104.00

—_———

*  19) Let C(x) be the cost function and R(x) the revenue function. Compute the marginal cost, marginal revenue, and
the marginal profit functions.
C(x) = 0.0004x3- 0.012x2+ 100x + 10,000
R(x)=350x 2
1
A) C(x) =0.0012x2- 0.024x + 100 C(R)= 0.00 12 % +o.024X +l00
R'(x) =350
P'(x) = 0.0012x250.024x - 250 R "( w) = 350
B) C'(x) = 0.0012x2+ 0.024x + 100 )
R'(x) = 350 s R - C(X
P'(x) = 0.0012x2+ 0.024x + 250 P = [K(X) :
C'(x) = 0.0012x2- 0.024x + 100
R'(x) =350
P'(x) = -0.0012x2+ 0.024x + 250

20) Find £(x) for f(x) = 3e* - 6x + 2 3¢-6

A)Ixe-1.6 B)3ex-6x | ef3ex-6 D)3eX-4

= - e A
22) Find f(x) for f(x) = (5x - 5)(4x3-x2 + 1) ?35'"-"""5 .»_-_r.-l_,__u—_l_

A) £(x) = 60x3+ 75x2-25x + 5 B) £(x) = 80x3- 25x2+ 75x + §
C) f(x) = 20x3+ 25x2- 75x + 5 V@?(x] = 80x3- 75x2+ 10x + 5

- = —————  — ————

. - X "‘!-!'3
23) Find f(x) for f(x) e -‘y | ot

s r 3 l&=3  _ 3
9x~3‘ﬁc9x-3}2 ox-3)2 Ox - 32

i 0= 643 6 x5 43e%
25) Find £(x) for f(x) = x6+3¢¥
A)6x+ e  B)bx+3es C) 65 +3xe"1 D)6x3+3eF

¥

— — e — — —— — — —
————————————— — —_— — — —

30) Dalco Manufacturing estimates that its weekly profit, P, in hundreds of dollars, can be approximated by the
fonnulaIP = -3z 4 6x + E’ where x is the number of units produced per week, in thousands.

How many units should the company produce per week to earn the maximum profit? (Find the maximum weekly

profit) —_—
\ i
\/@/1000 units; $1300 B) 1000 units: $600 F='£x+6"4| 1
’ —_6X¥+€=0
C) 3000 units; $100 D) 2000 units; $1100 6% =-C
NTTITIL ~ p(n--'s-(ll +‘+la-t3 o ol

e 2.
25)F‘mdf'[>¢]f'“""]'3'x+“ni3 = 8¢ +ll'€:}x _—-—-l; Sd +_';{'
12 12
VFesel DEg O DEg
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g Vo W T ‘
| ; <t . |
(gm5 Ygxy;c’z:% 245 Sy |
_ ] _gw \
@pf et e |
e+b .
i S ém—[— c'fx:*a{' ‘3ax++c FREAE
i = — — ———— E_ — — |
J- q%%cl'x :[—@] - ll)q'- Oq . bq :l

Scanned with CamScanner



